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1. (5 points) Find the inverse of
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2. (4 points) How many steps does elimination use in solving 10 systems with the same 60
by 60 coefficient matrix A?

A=1U tkes %Xéoazzoﬁéva Steps @

;= b 1 tapes ax x bo? = b Steps i
L= €= /fm Ty, 10

o Dox b 10x hoT= 30x b*= [0§,000 Steps

3. (4 points) True or false? Give a specific counterexample when false.

(a) If columns 1 and 3 of B are the same, so are columns 1 and 3 of AB.
(b) If rows 1 and 3 of A are the same, so are rows 1 and 3 of AB.
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(V) By Fhe vesult of ) ,
Columns | omd 2 ot (AB) = AT e —The same

'\“f coluns | ond 3 of AT ave e Same.

= Rows | avd 2 oF A ATE ‘e same

i rows | owd 3 of A ave e Sume




4. (7 points) Write down the 3 by 3 finite-difference matrix equation (h = ) for
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